3.2 Determining Max and Min Values of a Quadratic Function
1.

a) Read Example 1 on page 148.  

If you don’t understand Jonah’s solution, try Sophia’s solution.

b) Now try the following question.  

A golfer hits a ball off a platform above the ground.  The ball’s height can be modeled by h(t) = -3t2+30t  +72, where h(t) is the height in metres after time t seconds.  There are power lines 170 m above the ground.  Can the ball possibly hit the power lines? Answer the question using TWO methods.
2.

a) Read Example 2 on page 150

Instead of using a calculator, use the quadratic formula to find the zeros and then locate the vertex which lies in the middle.


b) Now try the following question.

The cost c(x), in dollars per hour or running a certain OC Transpo bus is modeled by c(x) = 0.28x2 -5.7x -1, where x is the number of passengers on board. How many passengers will achieve the minimum cost.
3. 

a) Read Example 3  on page 151
b) Now try the following question.

p(x) = -2x +24,  C(x) = 12x +10. 

a)Find the profit function.

b) The value of x that maximizes profit.

Homework:   pg 153 #1-5,8,11
